

#### See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



efile GRAPHIC print - DO NOT PROCESS | As Filed Data -

DLN: 93491130012103

OMB No 1545-0052

Department of the Treasury

Internal Revenue Service

#### **Return of Private Foundation** or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

**Note.** The foundation may be able to use a copy of this return to satisfy state reporting requirements

Open to Public

For	cale	endar year 2012, or tax y	ear beginning 01-	01-2012 , and	dend	ding 12-31-	2012		
		undation				A Employer id	entification numbe	er	
IH	IE HAJIN	M FAMILY FOUNDATION				13-6893956			
Num	ber and	street (or P O box number if mail is	not delivered to street address	s) Room/suite		<b>B</b> Telephone nu	mber (see instruction	ns)	
		MHM 1065 AVE OF AMERICAS				(212) 790-5700	)		
		n, state, and ZIP code NY 10018				<b>C</b> If exemption	application is pendin	g, check here	<b>▶</b> □
	heck a	all that apply   \( \bar{\bar{\bar{\bar{\bar{\bar{\bar{	Initial return o	f a former public cha	rıtv	<b>D.1</b> Foreign or	ganizations, check h	ere	
•		Final return	Amended retu		,	_	rganizations meeting		· -
		Address cha					e and attach comput		<b>P</b>
		ype of organization 🔽 Section							
		1 4947(a)(1) nonexempt charita	JAccounting method	Ible private foundation  Cash		<b>E</b> If private fou	ındatıon status was t	erminated	_
		ket value of all assets at end from Part II, col. (c),	Other (specify)	r Casii i Acci	uai		n 507(b)(1)(A), chec		<b>F</b>
		\$ 2,511,846	(Part I, column (d) musi	_ t be on cash basıs.)			ation is in a 60-mont n 507(b)(1)(B), chec		<b>▶</b> □
Pa	rt I	Analysis of Revenue a total of amounts in columns (b), (necessarily equal the amounts in columnstructions))	c), and (d) may not	(a) Revenue and expenses per books	(b)	Net investment income	(c) Adjusted net income	(d) Disburse for charita purpose (cash basis	able es
	1	Contributions, gifts, grants, etc , rece	eived (attach schedule)						
	2	Check ► 🔽 if the foundation is <b>not</b>	required to attach Sch B						
	3	Interest on savings and tempo	orary cash investments						
	4	Dividends and interest from se	ecurities	49,125		49,125			
	5a	Gross rents							
	Ь	Net rental income or (loss)							
Φ_3	6a	Net gain or (loss) from sale of		138,595					
Revenue	b	Gross sales price for all assets on line				120 505			
	7 8	Capital gain net income (from Net short-term capital gain .				138,595			
	9	Income modifications							
	10a	Gross sales less returns and allowance	es						
	ь	Less Cost of goods sold							
	c	Gross profit or (loss) (attach s	chedule)						
	11	Other income (attach schedul	e)	733		733			
	12	Total. Add lines 1 through 11		188,453		188,453			
	13	Compensation of officers, dire	ctors, trustees, etc	0		0			0
ø	14	Other employee salaries and v	wages						
ıse	15	Pension plans, employee bene	fits						
Expenses	16a	Legal fees (attach schedule).							
	b	Accounting fees (attach sched				4,900			4,900
₽	_ c	Other professional fees (attac							
trat	17	Interest		259 10,349		635			0
Admını strative	18	Taxes (attach schedule) (see instruct	•	10,349		035			
<u>ਵ</u>	19 20	Depreciation (attach schedule Occupancy							
Ă	21	Travel, conferences, and meet							
and	22	Printing and publications							
5	23	Other expenses (attach sched		<b>%</b> 5,375		237			380
Operating	24	Total operating and administra		_					
ğ		Add lines 13 through 23	-	25,783		5,772			5,280
0	25	Contributions, gifts, grants pa	ıd	274,876				:	274,876
	26	Total expenses and disbursemen	ts. Add lines 24 and 25	300,659		5,772			280,156
	27	Subtract line 26 from line 12							
	a	Excess of revenue over expens		-112,206					
	b	Net investment income (if neg				182,681			
	l c	Adjusted net income (if negati	ve, enter -0-)	1				I	

Рa	rt II	Balance Sheets Attached schedules and amounts in the description column	Beginning of year			f year		
اتھ		Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only (See instructions)	(a) Book Value	(b) Book	Value 98,349	(c) Fair Market Value		
	1	Cash—non-interest-bearing						
	2	Savings and temporary cash investments	240,576		1,043,698	1,043,698		
	3	Accounts receivable  Less allowance for doubtful accounts						
	4	Pledges receivable  Less allowance for doubtful accounts						
	_	<u> </u>						
	5	Grants receivable						
	6	disqualified persons (attach schedule) (see page 15 of the						
		instructions)						
	7	Other notes and loans receivable (attach schedule)						
	,	——————————————————————————————————————						
ر ا بو		Less allowance for doubtful accounts 🕨						
455ets	8	Inventories for sale or use						
笳	9	Prepaid expenses and deferred charges						
	10a	Investments—U S $$ and state government obligations (attach schedule)						
	b	Investments—corporate stock (attach schedule)	2,273,984	<u> </u>	1,306,367	1,369,799		
		Investments—corporate bonds (attach schedule)						
	11	Investments—land, buildings, and equipment basis -						
		Less accumulated depreciation (attach schedule)						
		Investments—mortgage loans						
		Investments—other (attach schedule)						
	14	Land, buildings, and equipment basis -						
		Less accumulated depreciation (attach schedule)						
	15	Other assets (describe 🟲)						
	16	Total assets (to be completed by all filers—see the						
_		instructions Also, see page 1, item I)	2,579,135		2,448,414	2,511,846		
	17	Accounts payable and accrued expenses						
	18	Grants payable						
<u> </u>	19	Deferred revenue						
	20	Loans from officers, directors, trustees, and other disqualified persons						
<u> </u>	21	Mortgages and other notes payable (attach schedule)	<b>93</b> 19,010	<u>।</u>	0			
	22	Other liabilities (describe)	15,010	(29)				
	23	Total liabilities (add lines 17 through 22)	19,010		0			
		Foundations that follow SFAS 117, check here 🕨 🦵						
ا ِ		and complete lines 24 through 26 and lines 30 and 31.						
or Fund Balances	24	Unrestricted						
悥	25	Temporarily restricted						
8	26	Permanently restricted						
힏		Foundations that do not follow SFAS 117, check here 🕨 🔽						
뢰		and complete lines 27 through 31.						
히	27	Capital stock, trust principal, or current funds	0		0			
낉	28	Paid-in or capital surplus, or land, bldg , and equipment fund	0		0			
Assets	29	Retained earnings, accumulated income, endowment, or other funds	2,560,125		2,448,414			
듸	30	Total net assets or fund balances (see page 17 of the						
ĕ		ınstructions)	2,560,125		2,448,414			
	31	Total liabilities and net assets/fund balances (see page 17 of						
		the instructions)	2,579,135		2,448,414			
Pa	rt II	Analysis of Changes in Net Assets or Fund Balances						
1		Total net assets or fund balances at beginning of year—Part II, column	n (a), line 30 (must ad	ree T				
•					1	2,560,125		
2		Enter amount from Part I, line 27a			2	-112,206		
3		Other increases not included in line 2 (itemize)		93	3	495		
4		Add lines 1, 2, and 3		_	4	2,448,414		
5		Decreases not included in line 2 (itemize)		_	5	0		
6		Total net assets or fund balances at end of year (line 4 minus line 5)—	Part II, column (b), lıı	ne 30 .	6	2,448,414		

	90-PF (2012)						Page <b>3</b>	
Part 1	Capital Gains a	nd Losses for Tax on Inve	stment Inco			1		
		he kınd(s) of property sold (e g , rouse, or common stock, 200 shs N		(b) How acqu P—Purchas D—Donatio	e ('	<b>c)</b> Date acquired (mo , day, yr )	( <b>d)</b> Date sold (mo , day, yr )	
1 a	THRU JEFFERIES#06	59-SCH #1		Р				
b	THRU JEFFERIES#06	59-SCH #1		Р				
С С	PTP ADJUSTMENT - F	KKR FINANCIAL HOLDINGS LLC		Р				
d				Р				
е								
(e) Gross sales price(f) Depreciation allowed (or allowable)(g) Cost or other basis plus expense of sale(h) Gain or (l (e) plus (f) min								
a	4,148	8,191		3,964	,580	183,61		
	47!	5,947		520	,752		-44,805	
							-211	
d							0	
e								
	mnlete only for accets ch	nowing gain in column (h) and own	d by the founda	tion on 12/31/69	$\overline{}$	(I) Gains (Col	(h) gain minus	
		(j) Adjusted basis		Excess of col (i)			ess than -0-) <b>or</b>	
(i)	FM V as of 12/31/69	as of 12/31/69		ercol (j), if any		Losses (fro	•	
а							183,611	
b							-44,805	
С С							-211	
d							0	
е								
2	Capital gain net incom	e or (net capital loss)		ter in Part I, line 7 -0- in Part I, line 1				
3		ا gain or (loss) as defined in sectio ا			¹	2	138,595	
		art I, line 8, column (c) (see instru			ı l			
	in Part I, line 8	· · · · · · · · · · · · · · · · · · ·			- }	3		
Dart	V Qualification III	nder Section 4940(e) for F	Peduced Tay	on Net Invest	<u>'  </u> ment			
(For opt	tional use by domestic pr	rivate foundations subject to the s	ection 4940(a) i	ax on net investm	ent ind	come )		
Ifsection	on 4940(d)(2) applies, le	ave this part blank						
		section 4942 tax on the distribut qualify under section 4940(e) Do			e perio	od?	┌ Yes ┌ No	
		nt in each column for each year, s			ore ma	king any entries		
	(a)	The in each column for each year, s	I	e matractions ber	T			
	period years Calendar	<b>(b)</b> Adjusted qualifying distributions	Net value of non	(c) charitable-use assets		<b>(d)</b> Distributior	n ratio	
year (	or tax year beginning in)		Net value of flori		_	(col (b) divided		
	2011	283,390		2,957,927	_		0 095807	
	2010	278,490		3,141,728			0 088642	
	2009	282,891		3,039,328			0 093077	
	2008	280,385		3,645,287	_		0 076917	
	2007	330,150		4,214,398	<del>}                                    </del>		0 0 / 8 3 3 9	
2	<b>Total</b> of line 1, column	(d)			2		0 432782	
3		atio for the 5-year base period—di			_		0.006556	
	the number of years th	e foundation has been in existenc	e ıf less than 5 y	ears	3		0 086556	
4	Enter the net value of i	noncharitable-use assets for 201	2 from Part X, Iır	ne 5	4		2,594,470	
5	Multinly line 4 by line	3						
3	Pruntiply line 4 by line .	J			5		224,567	
6	Enter 1% of net invest	tment income (1% of Part I, line 2	7b)		6		1,827	
7	Add lines 5 and 6				. 7		226,394	
8	Enter qualifying distrib	outions from Part XII, line 4			8		280,156	
	If line 8 is equal to or q the Part VI instruction	greater than line 7, check the box is	ın Part VI, lıne 1	.b, and complete t	hat pa	rt usıng a 1% tax	rate See	

	990-PF (2012)  **Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see page 18 of the inst	· <b>-</b>		age <b>4</b>
		ructio	ons)	
1a	Exempt operating foundations described in section 4940(d)(2), check here  and enter "N/A" on line 1			
	Date of ruling or determination letter (attach copy of letter if necessary–see instructions)			
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check			1,827
	here Fand enter 1% of Part I, line 27b			
c	All other domestic foundations enter 2% of line 27b Exempt foreign organizations enter 4% of Part I, line 12, col (b)  Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)			
2				0
3	Add lines 1 and 2			1,827 0
5	Tax based on investment income. Subtract line 4 from line 3 If zero or less, enter -0			1,827
6	Credits/Payments			1,027
a	2012 estimated tax payments and 2011 overpayment credited to 2012   6a   7,560			
b	Exempt foreign organizations—tax withheld at source 6b			
c	Tax paid with application for extension of time to file (Form 8868)			
d	Backup withholding erroneously withheld 6d			
7	Total credits and payments Add lines 6a through 6d		•	7,560
8	Enter any <b>penalty</b> for underpayment of estimated tax. Check here 🔽 if Form 2220 is attached 🕏 8			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed			
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid • 10			5,733
11	Enter the amount of line 10 to be <b>Credited to 2013 estimated tax &gt;</b> 5,733 <b>Refunded &gt;</b> 11			0
Par	t VII-A Statements Regarding Activities			
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did		Yes	No
	It participate or intervene in any political campaign?	. 1a		No
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see page 19 of			
	the instructions for definition)?	. 1b		No
	If the answer is "Yes" to <b>1a</b> or <b>1b</b> , attach a detailed description of the activities and copies of any materials			
_	published or distributed by the foundation in connection with the activities.  Did the foundation file Form 1120-DOL for this year?	1c		No
C C	Did the foundation file <b>Form 1120-POL</b> for this year?	10		No
d	(1) On the foundation $\blacktriangleright$ \$0 (2) On foundation managers $\blacktriangleright$ \$0			
e	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed			
_	on foundation managers <b>&gt;</b> \$			
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	. 2		No
	If "Yes," attach a detailed description of the activities.			
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles			
	of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	. з		No
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a	Yes	
b	If "Yes," has it filed a tax return on <b>Form 990-T</b> for this year?	4b	Yes	
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	. 5		No
	If "Yes," attach the statement required by General Instruction T.			
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either			
	By language in the governing instrument, or			
	By state legislation that effectively amends the governing instrument so that no mandatory directions  That a suffer with the state legislation that a second or the		\ <b>\</b>	
7	that conflict with the state law remain in the governing instrument?	. 6	Yes	
7		7	Yes	
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)  NY			
ь	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney			
-	General (or designate) of each state as required by General Instruction G? If "No," attach explanation.	8b	Yes	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3)			
	or 4942(j)(5) for calendar year 2012 or the taxable year beginning in 2012 (see instructions for Part XIV)?			
	If "Yes," complete Part XIV	. 9		No
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses	10		No

11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the			
	meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		No
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had			
	advisory privileges? If "Yes," attach statement (see instructions)	12		No
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	Yes	
	Website address ►N/A			
4.4		700	F700	
14	The books are in care of CO CBIZ MHM LLC  Telephone no (212)	790-	5/00	
	Located at ► 1065 AVE OF THE AMERICAS NEW YORK NY ZIP+4 ► 10018			
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of <b>Form 1041</b> —Check here		!	▶ ┌
	and enter the amount of tax-exempt interest received or accrued during the year			
16	At any time during calendar year 2012, did the foundation have an interest in or a signature or other authority over			
	a bank, securities, or other financial account in a foreign country?	16		No
	See instructions for exceptions and filing requirements for Form TD F 90-22 1 If "Yes", enter the name of the foreign			
	country			
Pai	t VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly)			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes V No			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)			
	a disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person?			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person?			
	(5) Transfer any income or assets to a disqualified person (or make any of either available			
	for the benefit or use of a disqualified person)?			
	(6) Agree to pay money or property to a government official? (Exception. Check "No"			
	ıf the foundatıon agreed to make a grant to or to employ the official for a period			
	after termination of government service, if terminating within 90 days ) <b>Yes</b> 🔽 <b>No</b>			
b	If any answer is "Yes" to 1a(1)–(6), did <b>any</b> of the acts fail to qualify under the exceptions described in Regulations			
	section 53 4941(d)-3 or in a current notice regarding disaster assistance (see page 20 of the instructions)?	1b		
	Organizations relying on a current notice regarding disaster assistance check here			
c	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts,			
	that were not corrected before the first day of the tax year beginning in 2012?	1c		No
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private			
	operating foundation defined in section 4942(j)(3) or 4942(j)(5))			
а	At the end of tax year 2012, did the foundation have any undistributed income (lines 6d			
	and 6e, Part XIII) for tax year(s) beginning before 2012?			
	If "Yes," list the years ▶ 20, 20, 20, 20			
b	Are there any years listed in 2a for which the foundation is <b>not</b> applying the provisions of section 4942(a)(2)			
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2)			
	to <b>all</b> years listed, answer "No" and attach statement—see instructions )	2b		
C	If the provisions of section 4942(a)(2) are being applied to <b>any</b> of the years listed in 2a, list the years here			
	▶ 20, 20, 20			
3a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at			
	any time during the year?			
b	If "Yes," did it have excess business holdings in 2012 as a result of (1) any purchase by the foundation			
	or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved			
	by the Commissioner under section $4943(c)(7)$ ) to dispose of holdings acquired by gift or bequest, or (3)			
	the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine			
	if the foundation had excess business holdings in 2012.).	3b		
<b>4</b> a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		No
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its			
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2012?	4b		No

Port VIII B Statements Dogg	al:.	a Astivities for	NA/L	ich Form 4730	Marr	. Do Doguinad (cont		٠,١	Page <b>C</b>
Part VII-B Statements Rega				iich Form 4/20	мау	ве кеquirea ( <i>cont</i>	mue	<i>u)</i>	
5a During the year did the foundation					4 = 7 = 1	\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	<del>.</del>		
(1) Carry on propaganda, or other		•	_	•	•	.,	NO		
(2) Influence the outcome of any		,		**		·	<del>-</del>		
on, directly or indirectly, any		_			•				
(3) Provide a grant to an individu						「 Yes ▽	' No		
(4) Provide a grant to an organiza							_		
ın section 509(a)(1), (2), or (					•	Yes	' No		
(5) Provide for any purpose other							_		
educational purposes, or for t							No		
<b>b</b> If any answer is "Yes" to 5a(1)-(		d <b>any</b> of the transac	tions	s fail to qualify under	the	exceptions described in			
Regulations section 53 4945 or i		urrent notice regard	ıng d	disaster assistance	(see	ınstructions)?		5b	
Organizations relying on a curren	t not	ice regarding disast	eras	ssistance check here	≥	▶ [	_		
$oldsymbol{c}$ If the answer is "Yes" to question	5a(4	l), does the foundati	on c	laım exemption from	the				
tax because it maintained expend	liture	responsibility for th	ne gr	ant?		<b>Yes F</b>	- No		
If "Yes," attach the statement requ	ired L	y Regulations section	n 53.	4945-5(d).					
<b>6a</b> Did the foundation, during the yea	ır, re	ceive any funds, dire	ctly	or indirectly, to pay	pren	niums on			
a personal benefit contract?							No		
<b>b</b> Did the foundation, during the yea	ır, pa	y premiums, directly	orı/	ndirectly, on a perso	nal b	penefit contract?		6b	No
If "Yes" to 6b, file Form 8870.	, .	, , , ,		,, ,					
<b>7a</b> At any time during the tax year, w	vas ti	ne foundation a party	/ to a	a prohibited tax shel	ter tr	ansaction?   Yes	- No		
<b>b</b> If yes, did the foundation receive				·		· · · · · · · · · · · · · · · · · · ·		7b	
						n Managers, Highly			04000
Part VIII and Contractors	. 01	incers, Directors	, "	i ustees, i ouiida	itioi	i Managers, inginy	raiu	Lilipi	oyees,
1 List all officers, directors, trustees	s, foi	ındation managers a	nd t	heir compensation (	see ii	nstructions).			
	1	Title, and average		c) Compensation		(d) Contributions to	(0) [	Evnonce	
(a) Name and address	l .	hours per week	(11 not paid, enter   employee benefit plans				(e) Expense account, other allowances		
DADDADA HATIM	1	evoted to position		-0-)	and	deferred compensation			
BARBARA HAJIM	TRU 2 00	STEE	0 0				0		
C/O CBIZ 1065 AVE OF AMERICAS NEW YORK, NY 10018	2 00								
EDMUND A HAJIM	4	STEE		0		0	0		0
C/O CBIZ 1065 AVE OF AMERICAS	0 50	)							
NEW YORK, NY 10018									
2 Compensation of five highest-paid	emp	oloyees (other than t	thos	e included on line 1—	-see		nter "I	NONE."	
(a) Name and address of each employ	,,,,	(b) Title, and avera	age			(d) Contributions to employee benefit	(0)	Evnence	account,
paid more than \$50,000	,	hours per week		(c) Compensatio	n	plans and deferred		her allo	
		devoted to position	on			compensation			
NONE									
		-							
		]							
Total number of other employees naid o		+ = 0 000				<b>—</b>	1		

Part VIII  Information About Officers, Directors, True and Contractors (continued)	stees, Foundation Managers, Highly	Paid Employees,
3 Five highest-paid independent contractors for professional service	es (see instructions). If none, enter "NONE".	
(a) Name and address of each person paid more than \$50,000	<b>(b)</b> Type of service	(c) Compensation
NONE		
<b>Total</b> number of others receiving over \$50,000 for professional service	es	0
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct chantable activities during the tax year. Include organizations and other beneficiaries served, conferences convened, research papers is		Expenses
1		
		1
		1
2		
		-
		-
3		
4		
		]
		1
Part IX-B Summary of Program-Related Investment	s (see instructions)	
Describe the two largest program-related investments made by the foundation dur		Amount
1		
		1
2		-
All other program-related investments See page 24 of the instruct	ons	
3		
Total. Add lines 1 through 3		0

Form 990-PF (2012)						
Pa	Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations,					
	see instructions.)					
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc ,					
	nurnocae					

	see instructions.)		
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc ,		
_	purposes	4.	1 725 625
a	A versage monthly fair market value of securities	1a	1,735,635
b	A verage of monthly cash balances	1b	898,345
C	Fair market value of all other assets (see instructions)	1c	2 622 000
d	Total (add lines 1a, b, and c)	1d	2,633,980
е	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	2,633,980
4	Cash deemed held for charitable activities Enter 1 1/2% of line 3 (for greater amount, see	3	2,633,960
4	instructions)	4	39,510
5	Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4	5	2,594,470
6	Minimum investment return. Enter 5% of line 5	6	129,724
	Distributable Amount (see instructions) (Section 4942(1)(3) and (1)(5) private oper	_	
Par	certain foreign organizations check here F and do not complete this part.)	ating	Todiladions and
1	Minimum investment return from Part X, line 6	1	129,724
2a	Tax on investment income for 2012 from Part VI, line 5   2a   1,827		
ь	Income tax for 2012 (This does not include the tax from Part VI) 2b 499		
c	Add lines 2a and 2b	2c	2,326
3	Distributable amount before adjustments Subtract line 2c from line 1	3	127,398
4	Recoveries of amounts treated as qualifying distributions	4	0
5	Add lines 3 and 4	5	127,398
6	Deduction from distributable amount (see instructions)	6	0
7	Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII,		
	line 1	7	127,398
Par	Qualifying Distributions (see instructions)		
1	A mounts paid (including administrative expenses) to accomplish charitable, etc , purposes		Г
	Expenses, contributions, gifts, etc —total from Part I, column (d), line 26	1-	280,156
a b	Program-related investments—total from Part IX-B	1a 1b	280,130
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,	ID	-
2		2	
3	Amounts set aside for specific charitable projects that satisfy the		
		2-	
a	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	200 156
4	Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	280,156
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment	F	1 0 2 7
•	Income Enter 1% of Part I, line 27b (see instructions)	5	1,827
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6 er the	278,329
	the section 4940(e) reduction of tax in those years		. Iodiluacion qualifies 101

Fori	m 990-PF (2012)					Page <b>9</b>
Р	art XIII Undistributed II	ncome (see instruc	tions)			
			(a)	(b)	(c)	(d)
4	Distributable amount for 2012 fro	om Part VI. lung 7	Corpus	Years prior to 2011	2011	2012
	Undistributed income, if any, as of	· —				127,550
	Enter amount for 2011 only				0	
a				0	9	
b	Total for prior years 20, Excess distributions carryover, i					
3	From 2007	330,150				
a h	From 2008	280,385				
6	From 2009	284,368				
ď	From 2010	278,490				
e	From 2011	284,070				
	<b>Total</b> of lines 3a through e		1,457,463			
	Qualifying distributions for 2012					
•	XII, line 4 🕨 \$	<b> </b>				
а	Applied to 2011, but not more th				0	
	Applied to undistributed income of	<del>-</del>				
_	(Election required—see instruction			0		
c	Treated as distributions out of co		.=			
	required—see instructions)		280,156			
d	Applied to 2012 distributable am	ount				0
е	Remaining amount distributed ou	t of corpus	0			
5	Excess distributions carryover a	pplied to 2012	127,398			127,398
	(If an amount appears in column (d	d), the				
	same amount must be shown in co					
6	Enter the net total of each colun	nn as				
	indicated below:		1 610 221			
	Corpus Add lines 3f, 4c, and 4e	<del>-</del>	1,610,221			
b	Prior years' undistributed income line 4b from line 2b			0		
_	Enter the amount of prior years' u					
	income for which a notice of defic					
	been issued, or on which the sect					
	tax has been previously assessed			0		
d	Subtract line 6c from line 6b Tax	<b> </b>		0		
	—see instructions					
е	Undistributed income for 2011 S 4a from line 2a Taxable amount-					
	instructions				0	
f	Undistributed income for 2012 S	ubtract				
	lines 4d and 5 from line 1 This ai	<b> </b>				_
	be distributed in 2013					0
7	Amounts treated as distributions	<b> </b>				
	corpus to satisfy requirements in section $170(b)(1)(F)$ or $4942(g)($					
	instructions)		0			
8	Excess distributions carryover fr					
_	applied on line 5 or line 7 (see ins	<b> </b>	202,752			
9	Excess distributions carryover to	· ·				
	Subtract lines 7 and 8 from line 6	a	1,407,469			
10	Analysis of line 9					
	Excess from 2008	280,385				
	Excess from 2009	284,368				
С	Excess from 2010	278,490				
d	Excess from 2011	284,070				
е	Excess from 2012	280,156				

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other

c Any submission deadlines

factors

Part XV Supplementary Information (continued) 3 Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual, Recipient Foundation show any relationship to Purpose of grant or status of Amount any foundation manager contribution Name and address (home or business) recipient or substantial contributor **a** Paid during the year NONE **SEE STATEMENT 10** EXEMPT ORG CHARITABLE 274,876 CONTRIBUTIONS **NEW YORK** NEW YORK, NY 10018 274,876 Total. . . **b** Approved for future payment

	-PF (2012)					Page <b>1</b> 2
	/I-A Analysis of Income-Production ss amounts unless otherwise indicated		ISINESS INCOME	Excluded by section	512 513 or 514	(e)
_	im service revenue	(a) Business code	(b) A mount	(c) Exclusion code	(d) A mount	Related or exemp function income (See
a b c d e f g Fees 2 Memb 3 Interes 4 Divide 5 Net re a Debt b Not 6 Net rer 7 Other 8 Gain or 9 Net in	s and contracts from government agencies pership dues and assessments		A mount	14 14 18	49,125 733 138,595	Instructions )
11 Other b c d e 12 Subto 13 Total. (See	tal Add columns (b), (d), and (e).  Add line 12, columns (b), (d), and (e).  worksheet in line 13 instructions to verify  /I-B Relationship of Activities to  Explain below how each activity for wh	calculations ) the Accom	plishment of E	Exempt Purpos  (e) of Part XVI-A c	ontributed importa	188,453

Thormation Regarding Transfers To and Transactions and Relationships With Noncharitable Exempt Organizations  1 Del to equivalent dently or indextly engage in any of the following with any other agreement desirable in section.  2 Transfers from the reporting brundation to a moncharitable exempt organization of (1) Cash.  3 Transfers from the reporting brundation to a moncharitable exempt organization of (2) Cother assacts.  4 (3) Cash.  5 Other reassacts.  4 (2) Other assacts.  5 Other from a noncharitable exempt organization.  5 Other transfers from a noncharitable exempt organization.  6 Other transfers from a noncharitable exempt organization.  7 Other of assets to an accentrable in the second organization.  8 Other transfers from a noncharitable exempt organization.  8 Other transfers from a noncharitable exempt organization.  9 Other of assets to an occharitable exempt organization.  10 Other of assets to an occharitable exempt organization.  10 Other of assets to an occharitable exempt organization.  10 Other of assets to an occharitable exempt organization.  10 Other of assets to an occharitable exempt organization.  10 Other of assets to any of the above is "Yes", complete the following schedule Column (b) should always showth fair market value of the goods, other assets, or services given by the reporting foundation. If the foundation received less than fair market value of the goods, other assets, or services given by the reporting foundation. If the foundation received less than fair market value of the goods, other assets, or services received.  10 In the foundation directly or indirectly efficiency with the color (other than section 501(c)(3)) or in section 502(c) of the asset of the occine occine of the occine occine occine occine occine occine occi	Form 990-P	F (2012)									Pag	ge <b>13</b>
1 Description of the components directly or relatedity organic may of the following with any other organizations of the control of the contr	Part XVI					ansac	tions and	Relationships	With			
a Transfers from the reporting foundation to a nonchantable exempt organization of  (3) Sales of assets to a nonchantable exempt organization.  (3) Sales of assets to a nonchantable exempt organization.  (3) Sales of assets from a monchantable exempt organization.  (4) Remburement arrangement, or other assets.  (5) Both of facilities, regument, or other assets.  (6) Performance of services or membership or fundraising solicitations,  (7) Remburement arrangements.  (8) Performance of services or membership or fundraising solicitations,  (8) Performance of services or membership or fundraising solicitations,  (9) Performance of services or membership or fundraising solicitations,  (10) Performance of services or membership or fundraising solicitations,  (10) Performance of services or membership or fundraising solicitations,  (10) Performance of services or membership or fundraising solicitations,  (10) Performance of services or membership or fundraising solicitations,  (10) Performance of services or membership or fundraising solicitations,  (10) Performance of services or membership or fundraising solicitations,  (10) Performance of services or membership or fundraising solicitations,  (10) Performance of services or membership or fundraising solicitations,  (10) No. (11) Performance of services or membership or fundraising solicitations,  (10) No. (11) Performance of services or membership or fundraising solicitations,  (11) No. (12) No. (12) No. (13) No. (13) No. (14) No. (14) No. (15) N	1 Did the org		-			er organiza	ation described i	n section			Yes	No
(3) Other assets. 14(3) No. 14(2) No. 14(3) No. 14(4) No. 15(4) No	501(c) of t	the Code (other than section !	501(c)(3) o	rganızatıons) or	ın section 527, rela	ating to p	olitical organizat	ions?				
(2) Other issets	<b>a</b> Transfers	s from the reporting foun	dation to	a noncharita	ble exempt orga	anızatıo	n of					
Do their transactions  (1) Sales of assets to a noncharitable exempt organization.  (2) Purchases of assets from a noncharitable exempt organization.  (3) Rental of facilities, equipment, or other assets.  (4) Reimburgement arrangements.  (5) Loans or loan guarantees.  (5) Loans or loan guarantees.  (6) Performance of services or membership or fundraising solicitations.  (7) Interest of the spots, other assets, or services green production in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services green by the reporting foundation if the foundation arrangement is not in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services green by the reporting foundation if the foundation returned less than fair market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received  (a) Irie No  (b) Amount involved  (c) Name of nondraintable exempt organization  (d) Description of transless, transactions, and sharing arrangements  (e) Line No  (b) Amount involved  (c) Hame of nondraintable exempt organization  (d) Description of transless, transactions, and sharing arrangements  (e) Line No  (b) Amount involved  (c) Hame of nondraintable exempt organization  (d) Description of transactions, and sharing arrangements  (e) Line No  (f) Description of rebinoming arrangements  (h) Involved organization  (g) Description of rebinoming  (h) Involved organization  (h) Description of transa	<b>(1)</b> Cas	h								1a(1)		No
(a) Sales of assets to a nonchantable exempt organization.  (b) Purchases of assets from a nonchantable exempt organization.  (c) Purchases of assets from a nonchantable exempt organization.  (d) Remibursement arrangements.  (d) Remibursement arrangements.  (e) Performance of services or membership or fundraising solicitations.  (f) Performance of services or membership or fundraising solicitations.  (g) Performance of services or membership or fundraising solicitations.  (g) Performance of services or membership or fundraising solicitations.  (g) Performance of services or membership or fundraising solicitations.  (g) Performance of services or membership or fundraising solicitations.  (g) Performance of services or membership or fundraising solicitations.  (g) Performance of services or membership or fundraising solicitations.  (g) Performance of services or membership or fundraising solicitations.  (g) Performance of services given by the reporting foundation if the foundation received less than fair market value or the goods, other assets, or services given by the reporting foundation if the foundation received less than fair market value or the goods, other assets, or services given by the reporting foundation if the foundation received less than fair market value or the goods, other assets, or services given by the reporting foundation if the foundation received less than fair market value or the goods, other assets, or services given by the reporting foundation if the foundation received less than fair market value or the goods, other assets, or services given by the reporting foundation if the foundation received less than fair market value or the goods of the foundation of the goods of the goods of the foundation of the goods of the foundation of the goods of	<b>(2)</b> Othe	erassets								1a(2)		No
(2) Purchases of assets from a noncharitable exempt organization.  (3) Rental of facilities, equipment, or other assets.  (4) Reimbursement arrangements.  (5) Loans or loan quarantees.  (6) Performance of services or membership or fundraising solicitations.  (6) Performance of services or membership or fundraising solicitations.  (7) Ib(0) No C Sharing of facilities, equipment, mailing lists, other assets, or paid employees.  (8) Performance of services or remove the following schedule. Column (b) should always show the fair market value of the goods, other assets, or services given by the reporting foundation if lift for fundation neceived less than fair market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services given by the reporting foundation if lift for fundation neceived less than fair market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received.  (a) Line No  (b) Amount medical (c) Rome of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?  2a Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?  2a Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?  2a Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described in section 527?  2a Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described in section 527?  2a Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations d	<b>b</b> Other tra	insactions										
(3) Rental of facilities, equipment, or other assets	<b>(1)</b> Sale	s of assets to a nonchar	ritable ex	empt organiz	ation					1b(1)		No
(4) Reimbursement arrangements.  (5) Loans or loan guarantees.  (6) Performance of services or membership or fundraising solicitations.  (6) Performance of services or membership or fundraising solicitations.  (7) Lib(6) No.  (8) Starting of facilities, equipment, mailing lists, other assets, or paid employees.  (8) If the naware to any of the above is "Yes," complete the following schedule. Column (b) should always show the fair market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received.  (a) Line No.  (b) Amount involved. (c) Name of morchantable exempt organization. (d) Description of transfers, transactions, and sharing arrangements.  2a Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?.  (a) Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?.  (c) Description of relationships  (d) Hame of organization.  (b) Type of organization.  (c) Description of relationships  (d) Hame of organization or which prepare has any knowledge.  (a) Hame of organization or which prepare has any knowledge.  Date  Pinty Type preparer is name.  Preparar's Signature.  Preparar's Signature.  Check if self-employed.  Check if self	<b>(2)</b> Purc	hases of assets from a	noncharıt	able exempt	organızatıon.					1b(2)		No
(5) Loans or loan guarantees.  (6) Performance of services or membership or fundraising solicitations.  (7) Sharing of facilities, aquipment, mailing lists, other assets, or paid employees.  (8) Life answer to any of the above is "Yes," complete the following schedule. Column (b) should always show the fair market value of the goods, other assets, or services given by the reporting foundation If the foundation received less than market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received.  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements.  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements of the goods, other assets, or services greateved in any transaction of transfers, transactions, and sharing arrangements of the goods, other assets, or services greateved in any transaction of transfers, transactions, and sharing arrangements of the goods, other assets, or services greateved in a section 501(c) of the Code (other than section 501(c)(3)) or in section 527?	<b>(3)</b> Rent	tal of facilities, equipmer	nt, or othe	erassets						1b(3)		No
(6) Performance of services or membership or fundraising solicitations.  2 Ib(6) No c Sharing of facilities, equipment, mailing lists, other assets, or paid employees.  3 If the answer to any of the above is "Yes," complete the following schedule Column (b) should always show the fair market value of the goods, other assets, or services given by the reporting foundation. If the foundation received less than fair market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received  (a) Linc Rio (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements  2 Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described in section 501(c) of the Code (other than section 501(c)(3)) or in section 52??  3 If If "Yes," complete the following schedule (a) Name of organization (b) Type of organization (c) Description of relationship  4 Under penalities of perjury, I declare that I have examined this return, including accompanying schedules and statements, and to the best of my knowledge and belief, it is true, correct, and complete the following of which preparer has any knowledge  4 Print/Type preparer's name  4 Preparer's Signature  5 Print/Type preparer's name  5 Preparer's Signature  6 Print/Type preparer's name  6 Preparer's Signature  6 Print/Type preparer's name  7 Preparer's Signature  6 Print/Type preparer's name  7 Print/Type preparer's name  8 Preparer's Signature  9 Print/Type preparer's name  1065 AVENUE OF THE AMERICAS	<b>(4)</b> Rein	nbursement arrangemen	ts							1b(4)		No
c Sharing of facilities, equipment, mailing lists, other assets, or paid employees.  d If the answer to any of the above is "Yes," complete the following schedule Column (b) should always show the far market value of the goods, other assets, or services given by the reporting foundation. If the foundation received less than far market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received.  (a) Iris No.  (b) Amount involved. (c) Name of noncharitable exempt organization.  (a) Description of transfers, transactions, and sharing arrangements.  2a Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described in section 501 (c) of the Code (other than section 501 (c) (3)) or in section 527?.  (a) Name of organizations  (b) Type of organizations  (c) Description of relationship  Under penalties of penjury, I declare that I have examined this return, including accompanying schedules and statements, and to the best of my knowledge and belief, it is true, correct, and complete the following of myllowing schedules.  Sign Here  Print/Type preparer's name  Preparer's Signature  Print/Type preparer's name  Preparer's Signature  Print/Type preparer's name  Preparer's Signature  CBIZ MHM LLC  Firm's EIN > 34-1883473	<b>(5)</b> Loar	ns or loan guarantees.								1b(5)		No
d If the answer to any of the above is "Yes," complete the following schedule. Column (b) should always show the for market value of the goods, other assets, or services given by the reporting foundation. If the foundation received less than for market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements  (a) Line No (b) Amount involved (d) Description of transfers, transactions, and sharing arrangements  (b) Type of organization (c) Description of Transfers, transactions, and sharing arrangements  (c) Description of relationship  (d) Description of transfers, transactions, organization organization organization  (e) Description of transfers, transactions are related to, one or more tax-exempt organizations  (e) Description of transfers, transactions, and statements, and to th	<b>(6)</b> Perfo	rmance of services or m	embersh	ıp or fundraıs	ing solicitations	s				1b(6)		No
of the goods, other assets, or services given by the reporting foundation. If the foundation received less than fair market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received  (a) Line No (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements  2a Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?	<b>c</b> Sharing o	of facilities, equipment, r	nailing lis	sts, other ass	ets, or paid em	ployees				1c		No
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?	of the go	ods, other assets, or ser ansaction or sharing arra	rvices giv angement	en by the rep , show in colu	porting foundation (d) the value	on Ifth ue of the	e foundation e goods, othe	received less thar r assets, or servic	fair marke es receive	et value ed	!	nts
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?												
described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527?	2n In the for				runintad ta ana							
the best of my knowledge and belief, it is true, correct, and complete based on all information of which preparer has any knowledge    Color   Date   Title	describe	d in section 501(c) of th complete the following s	e Code (d chedule		ction 501(c)(3)	)) or in s	section 527?				ıs F	, No
the best of my knowledge and belief, it is true, correct, and complete based on all information of which preparer has any knowledge    Color   Date   Title												
the best of my knowledge and belief, it is true, correct, and complete based on all information of which preparer has any knowledge    Color   Date   Title					<u> </u>							
the best of my knowledge and belief, it is true, correct, and complete based on all information of which preparer has any knowledge    Color   Date   Title												
Print/Type preparer's name  Preparer's Signature  LINDA MCCARTY  Preparer  LINDA MCCARTY  LINDA MCCARTY  Preparer  LINDA MCCARTY  LINDA MCCARTY  Firm's name  CBIZ MHM LLC  1065 AVENUE OF THE AMERICAS  Possible Title  Check if self-employed ▶ PO0832934  Firm's EIN ▶ 34-1883473	Sign the	best of my knowledge a	nd belief,	ıt ıs true, coı	rrect, and comp y knowledge	lete De			n taxpayer  May the I	r <b>or fidu</b> RS discus:	ciary)	IS urn
Print/Type preparer's name		Signature of officer or tr	ustee		Date		Title					
Paid Preparer Use Only  LINDA MCCARTY  LINDA MCCARTY  LINDA MCCARTY  Firm's name  CBIZ MHM LLC  1065 AVENUE OF THE AMERICAS  Phono po. (313) 790-5700		Print/Type preparer's	name	Preparer's S	Signature	D	ate	· -				
Use Only  1065 AVENUE OF THE AMERICAS  Phono po. (212) 790-5700				LINDA M	CCARTY							
Phono no. (212) 790-5700	Use	Firm's name ►			- TUE AM-22-	A.C.		Firm's EIN ► 34	-1883471	3		
Firm's address NEW YORK, NY 10018	Only		1065	AVENUE OF	- IHE AMERIC	AS		DI	\			
		Firm's address ▶	NEW	YORK, NY 1	0018			Phone no (212	)790-570	00		

#### **TY 2012 Taxes Schedule**

Name: THE HAJIM FAMILY FOUNDATION

Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
	3,463	0		0
FOREIGN TAXES	635	635		0
NY CORP TAX	1,843	0		0
	3,527	0		0
FEDERAL EXCISE TAX-990-PF 2010 AMENDED	881	0		0

## **TY 2012 Accounting Fees Schedule**

Name: THE HAJIM FAMILY FOUNDATION

Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
TAX PREPARATION FEE	9,800	4,900		4,900

#### **TY 2012 Distribution from Corpus Election**

Name: THE HAJIM FAMILY FOUNDATION

**EIN:** 13-6893956

**Election:** THE HAJIM FAMILY FOUNDATIONEIN: 13-6893956ELECTION TO

DISTRIBUTE CORPUSYEAR ENDED DECEMBER 31, 2012PURSUANT TO CODE SECTION 494(H)(S) AND REGULATIONS SECTION 53.4942

(A)-3(D)(2), THE FOUNDATION HEREBY ELECTS TO TREAT

QUALIFYING DISTRIBUTIONS IN THE AMOUNT OF \$280,156 FOR THE YEAR ENDED DECEMBER 31, 2012 AS MADE OUT OF CORPUS.

\_\_\_\_\_ FOUNDATION

MANAGER

# **TY 2012 Investments Corporate Stock Schedule**

Name: THE HAJIM FAMILY FOUNDATION

Name of Stock	End of Year Book Value	End of Year Fair Market Value
THRU JEFFERIES-A M CASTLE & CO	92,851	103,390
THRU JEFFERIES-AIG PRIVATE EQUITY INC.	0	0
THRU JEFFERIES-AP ALTERNATIVE ASSETS LP	88,086	177,600
THRU JEFFERIES-BLYTH INC.	0	0
THRU JEFFERIES-FREEPORT MCMORAN COPPER & GOLD INC	96,295	102,600
THRU JEFFERIES-HI CRUSH PARTNERS LP	117,757	90,540
THRU JEFFERIES-ISHARES TR DOW JONES	0	0
THRU JEFFERIES-ISHARES TR RUSSELL 2000 INDEX	0	0
THRU JEFFERIES-ISTAR FINANCIAL INC.	236,566	244,500
THRU JEFFERIES-JAPAN SMALLER CAPITALIZATION INC.	35,944	36,000
THRU JEFFERIES-JPMORGAN CHASE & CO.	0	0
THRU JEFFERIES-KKR FINANCIAL HOLDINGS LLC	71,065	84,480
THRU JEFFERIES-MARKET VECTOR JR.GOLD MINER	47,083	39,580
THRU JEFFERIES-METLIFE	174,370	164,700
THRU JEFFERIES-OXFORD LANE CAPITAL CORP	142,701	153,899
THRU JEFFERIES-PETROLEO BRASILEIRO	0	0
THRU JEFFERIES-PRIMUS TELECOMMUNICATIONS GROUP	122,911	97,830
THRU JEFFERIES-SPDR GOLD TR	0	0
THRU JEFFERIES-SPDR S&P 500 ETF TR	0	0
THRU JEFFERIES-TEVA PHARMACEUTICAL INDUSTRIES	80,738	74,680
THRU JEFFERIES-VANGUARD INT'L EQUITY FD MSCI EMERGING MKTS	0	0
THRU JEFFERIES-XEROX INC.	0	0

## **TY 2012 Other Expenses Schedule**

Name: THE HAJIM FAMILY FOUNDATION

Description	Revenue and Expenses per Books	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
NYS FILING FEE	250	0		250
NY LAW JOURNAL	130	0		130
BANK FEES	237	237		0
OTHER EXPENDITURES	4,758	0		0

efile GRAPHIC print - DO NOT PROCESS | As Filed Data - DLN: 93491130012103

#### **TY 2012 Other Income Schedule**

Name: THE HAJIM FAMILY FOUNDATION

Description	Revenue And Expenses Per Books	Net Investment Income	Adjusted Net Income
THRU PARTNERSHIPS	734	734	734
THRU JEFFERIES & CO - 988 LOSS	-1	-1	-1



#### **TY 2012 Other Increases Schedule**

Name: THE HAJIM FAMILY FOUNDATION

Description	Amount
OTHER CURRENT YEAR ADJUSTMENTS	495

efile GRAPHIC print - DO NOT PROCESS	As Filed Data -	DLN: 93491130012103

## **TY 2012 Other Liabilities Schedule**

Name: THE HAJIM FAMILY FOUNDATION

Description	Beginning of Year - Book Value	End of Year - Book Value
OUTSTANDING CHECKS	16,600	0
THRU JEFFERIES-EQUITY CALL OPTIONS	2,410	0

Page 1 of 7
Base Currency: USD

43100659 - Hajim Family Foundation

Close Date	Open Date	Tran Type	Settle Ccy	Lot ID	Quantity	Unit Cost	Total Cost	Unit Proceeds	Proceeds	ST Gain/Loss	LT Gain/Loss	FX Gain/Loss	Total Gain/Loss
Trading /	Activity												
AGO	-	AS	SURED GUAI	RANTY LTD									
02/23/2011	02/01/2011	Sett	USD	3920627	2,000	15.06	30,116.00	15.24	30,471.21	355.21	0.00	0.00	355.21
08/01/2011	02/01/2011	Sell	USD	3920627	2,000	15.06	30,116 00	13 97	27,941 66	(2,174,34)	0.00	0.00	(2,174.34)
08/04/2011	02/01/2011	Sell	USD	3920627	1,000	15.06	15,058:00	13.34	13,335.34	(1,722.66)	0.00	. 0.00	{1,722.66}
08/04/2011	02/02/2011	Sell	USD	3925395	1,000	15.29	15,292.20	13.34	13,335.34	(1,956 86)	0 00	0.00	(1,956.86)
08/22/2011	02/02/2011	Sell	USD	3925395	1,000	15.29	15,292.20	11 26	11,257.98	(4,034.22)	.0.00	0.0	(4,034.22)
08/22/2011	02/03/2011	Sell	USD	3931967	1,000	15.05	15,051 80	11.26	11,257.98	(3,793 82)	0 00	0 00	(3,793 82)
09/13/2011	04/05/2011	Sell	USD	4138545	2,000	14.94	29,883.60	11.05	22,094.31	(7,789.29)	0.00	0,00	(7,789.29)
09/13/2011	04/19/2011	Self	USD	4182992	1,000	17 90	17,899.60	11 05	11,047.15	(6,852 45)	0.00	0.00	(6,852.45)
				Total AGO:	11,000.00	15.34	168,709.40	12.79	140,740.97	(27,968.43)	0.00	0.00	(27,968.43)
AGO11102	22C19.00	CAI	LL AGO OCT	19.00000 10/22/2	2011								
08/11/2011	05/26/2011	CoverShort	. USD	<b>437<del>5</del>4</b> 37	(20)	1.22	(2,433.10)	0.17	(330.45)	2,102.65	0.00	0.00	2,102.65
	_		Total AG	O111022C19.00:	(20.00)	1.22	(2,433.10)	0.17	(330.45)	2,102.65	0.00	0.00	2,102.65
BPZ		BPZ	Z RESOURCE	es inc							<del></del>		
1/04/2011	12/31/2010	Sell	USD	3812885	10,000	4.80	48,047.00	4.68	46,832.20	(1,214.80)	£0.00	0.00	(1,214.89)
				Total BPZ:	10,000.00	4 80	48,047.00	4 68	46,832.20	(1,214.80)	0.00	0.00	(1,214.80)
3TU		PE/	ABODY ENER	RGY CORP									
8/19/201 <del>1</del>	-06/21/2011	Selí	USD	4399300	1,500	56.09	84,130.65	43.13	64,699.20	(19,431.45)	0.00	0.00	(19,431,45)
9/28/2011	06/21/2011	Sell	USD	4399300	500	56.09	28,043 55	36.84	18,417.88	(9,625 67)	0.00	0 00	(9,625.67)
9/28/2011	07/26/2011 <sup>T</sup>	Self	USD	4518986	1,000	59.58	59,575.70	36.84	36,835.76	(22,739.94)	0.00	0.00	(22,739.94)
9/28/2011	08/30/2011	Sell	USD	<b>466</b> 1836	1,000	48.56	48,556.30	36 84	36,835.75	(11,720.55)	0.00	0.00	(11,720 55)
9/28/2011	08/31/2011	Self	USD	4666712	500	49.70	24,850.40	36.84	18,417.88	(6,432.52)	$ar{0}.00$	.0.00	(6,432 52)
				Total BTU:	4,500.00	54.48	245,156.60	38.93	175,206.47	(69,950.13)	0.00	0.00	(69,950.13)
3TU12012	1C50.00	CAL	LL BTU JAN	50.00000 01/21/20	012								
9/22/2011	09/13/2011	CoverShort	USD	4704337	- (30)	4.09	(12,259.08)	1.14	(3,430.68)	8,828.40	D:00	₽.00	8,828.40
			Total BT	U120121C50.00:	(30.00)	4 09	(12,259.08)	1.14	(3,430.68)	8,828.40	0.00	0.00	8,828.40
CHMT		CHE	EMTURA COF								<del></del>		
2/22/2011	01/12/2011	Sell	USD	3852718	.2,000	16.27	32,538.00	16.83	33,663.35	1,125.35	00.0	0.00	1,125 35
2/22/2011	01/26/2011	Selí	USD	3897265	2,000	16.20	32,390.00	16 83	33,663 35	1,273 35	0.00	0.00	1,273 35
2/22/2011	02/03/2011	Sell	USD	3931970	1,000	17.32	17,319.00	16.83	16,831.67	(487.33)	- 0.00	0.00	(487.33)
•	-	<u>.</u>	-	Total CHMT:	5,000.00	16.45	82,247.00	16.83	84,158.37	1,911.37	0.00	0.00	1,911.37
SJES		C&.	J ENERGY SE	RVICES INC									
1/30/2011	10/13/2011	Sell	USD	4820894	1,500	17.36	26,640.80	20.12	- 30,186.26	4,145.46	0.00	0.00	4,145.46
1/30/2011	10/18/2011	Sell	USD	4836073	2,000	18.24	36,470 20	20.12	40,248.35	3,778.15	0.00	0 00	3,778.15
1/30/2011	10/24/2011	Sell	USD	4858446	1,000	17.38	17,380.40	20.12	20,124.17	2,743.77	00.00	0.00	2,743.77

SEE DISCLAIMER FOR ADDITIONAL INFORMATION REGARDING YOUR REPORTS

Updated. 1/1/2012 11:17:56AM



Page 2 of 7 Base Currency: USD

43100659 - Hajim Family Foundation

Close Date	Open Date	Tran Type	Settle Ccy	Lot ID	Quantity	Unit Cost	Total Cost	Unit Proceeds	Proceeds	ST Gain/Loss	LT Gain/Loss	FX Gain/Loss	Total Gain/Loss
CJES		C&	J ENERGY S	ERVICES INC						<u> </u>			·
11/30/2011	10/26/2011	Self	USD	4868516	1,000	16.99	16,987 50	20.12	20,124.18	3,136.68	0.00	0.00	3,136.68
11/30/2011	10/27/2011	Sell	USD	4874639	1,000	17.93	17,926 50	20.12	20,124.17	2,197.67	0.00	0.00	2,197 67
11/30/2011	10/13/2011	Sell	USD	4820894	1,500	17.36	26,040.80	19 78	29,677 42	3,636.62	0.00	19.00	3,636.62
				Total CJES:	8,000.00	17.61	140,846.20	20 06	160,484.55	19,638.35	0.00	0.00	19,638.35
CSCO		CIS	CO SYSTEM	S INC					·—				
33/08/2011	11/29/2010	Sell	USD	3719202	5,000	19.34	96,694.00	18: <del>9</del> 9	90,452 61	(6,241.39)	0.00	-0.00	(6,241.39)
03/08/2011	12/02/2010	Sell	USD	3733282	2,000	19 45	38,890 00	18.09	36,181 05	(2,708.95)	0.00	0.00	(2,708.95)
				Total CSCO:	7,000.00	19.37	135,584.00	18.09	126,633.66	(8,950.34)	0.00	0 00	(8,950.34)
cxs		CR	EXUS INVEST	MENT CORP									<del></del>
)8/22/2011	04/12/2011	Sell	USD	4159932	2,500	10.97	27,424.75	9.08	22,688.06	(4,7.36 69)	0.00	0.00	(4,736.69)
09/21/2011	04/12/2011	Sell	USD	4159932	2,500	10 97	27,424 75	9.04	22,603 56	(4,821.19)	0.00	0.00	(4,821 19)
				Total CXS:	5,000.00	10.97	54,849.50	9.06	45,291 62	(9,557.88)	0.00	0.00	(9,557.88)
CYS		CY	\$ INVESTME	NTS INC		<del></del>							
6/08/2011	02/10/2011	Sell	USD	3953861	5,000	12.42	62,101.00	13.07	65,354.23	3,253.23	0:00	0.00	3,253.23
	_			Total CYS:	5,000.00	12.42	62,101.00	13.07	65,354.23	3,253.23	0.00	0.00	3,253.23
OVN		DE	VON ENERGY	CORPORATIO	N								
9/23/2011	06/21/2011	Sell	USD	4399309	1,000	78.25	78,249.80	56.10	56,099 52	(22,150.28)	.0.00	.0.00	(22,150.28)
0/03/2011	06/21/2011	Sell	USD	4399309	1,000	78.25	78,249 80	54.46	54,458.05	(23,791.75)	0.00	0.00	(23,791 75)
				Total DVN:	2,000.00	78 25	156,499.60	55.28	110,557.57	(45,942.03)	0.00	0.00	(45,942.03)
OVN12012	1C80.00	CA	LL DVN JAN	30.00000 01/21/2	012								
9/21/2011	07/12/2011	CoverShort	USD	4469773	(20)	5 30	(10,592.74)	0.80	(1,590.45)	9,002.29	0.00	0.00	9,002.29
			Total DVI	N120121C80.00:	(20.00)	5.30	(10,592.74)	0.80	(1,590.45)	9,002.29	0.00	0.00	9,002.29
FC		ELL	INGTON FINA	ANCIAL LLC						_ <del>_</del>			
8/05/2011	10/14/2010	Sell	USD	3588880	5,000	22.52	112,599.00	18,95	94,757.61	(17,841,39)	0.00	0.00	(17,841,39)
8/05/2011	11/03/2010	Sell	USD	3648254	235	22.06	5,184.88	18 95	4,453.61	(731.27)	0.00	0.00	(731.27)
8/10/2011	11/03/2010	Sell	USD	3648254	765	22.06	16,878.42	18.32	14,013.92	(2,864.50)	0.00	0.00	(2,864.50)
8/10/2011	11/12/2010	Self	USD	3678844	4,000	22.08	88,302.80	18 32	73,275.39	(15,027.41)	0.00	0.00	(15,027.41)
				Total EFC:	10,000.00	22.30	222,965.10	18.65	186,500.53	(36,464.57)	0.00	0.00	(36,464.57)
P		ELI	PASO CORPO	DRATION									
8/04/2011	05/26/2011	Sell	USD	4315314	1,000	20.89	.20,888.39	18.77	18,767.63	(2,120:67)	.0:.00	0.00	(2,120.67)
8/05/2011	05/26/2011	Self	USD	431531 <del>4</del>	1,000	20.89	20,888.30	17.31	17,311.43	(3,576 87)	0 00	0 00	(3,576.87)
8/05/2011	06/21/2011	Sell	USD	4399316	2,000	20.21	40,421.00	17.31	34,622.87	(5,798.13)	0.00	0.00	(5,798.13)
	-			Total EP:	4,000.00	20.55	82,197.60	17.68	70,701.93	(11,495.67)	0.00	0.00	(11,495.67)
TFC		FT	RADE FINAN	CIAL CORP									

SEE DISCLAIMER FOR ADDITIONAL INFORMATION REGARDING YOUR REPORTS

Updated: 1/1/2012 11 17.56AM



Page 3 of 7 Base Currency: USD

43100659 - Hajim Family Foundation

Close Date	Open Date	Tran Type	Settle Ccy	Lot ID	Quantity	Unit Cost	Total Cost	Unit Proceeds	Proceeds	ST Gain/Loss	LT Gain/Loss	FX Gain/Loss	Total Gain/Loss
ETFC		E1	RADE FINAN	CIAL CORP	· · · ·		·	··				· · · · · · · · · · · · · · · · · · ·	
11/18/2011	10/14/2011	Sell	USD	4824919	5,000	971	48,551.50	8.16	40,805.71	(7,745.79)	0.00	0.00	(7,745.7
11/18/2011	10/17/2011	Sell	USD	4830144	1,000	9.43	9,430 00	8.16	8,161.14	(1,268.86)	0 00	0.00	(1,268 8
1/18/2011	10/28/2011	Sell	USD	4880559	1,000	11.49	11,490:00	8.16	8,161.15	(3,328.85)	00 0	0.00	(3,328.8
11/18/2011	10/31/2011	Sell	USD	4886399	1,000	11 14	11,140.00	8 16	8,161.14	(2,978.86)	0 00	0.00	(2,978 8
				Total ETFC:	8,000.00	10.08	80,611.50	8.16	65,289.14	(15,322.36)	0.00	0.00	(15,322.36
EWJ		ISF	IARES MSCI	JAPAN INDEX F									
3/11/2011	03/03/2011	Self	USD	4024795	5,000	11.49	57,460:00	10.76	53,817.81	(3,642.19)	00:0	000	{3,642.19
3/11/2011	03/04/2011	Sell	USD	4029423	2,000	11.50	22,991.20	10.76	21,527.13	(1,464.07)	0.00	0.00	(1,464 07
14/07/2011	03/21/2011	Sell	USD	4086724	4,000	10.57	42,268.00	9.75	38,989.24	(3,278.76)	0.00	0.00	{3,278.76
X/12/2011	03/21/2011	Sell	USD	4086724	6,000	10.57	63,402.00	9.90	59,388.85	(4,013.15)	0.00	0.00	(4,013 15
				Total EWJ:	17,000.00	10 95	186,121.20	10 22	173,723.03	(12,398.17)	0.00	0.00	(12,398.17
EDXJ		MA	RKET VECTO	DRS JR GOLD MI	NER								• .
2/29/2011	02/15/2011	Sell	USD	3967664	1,000	37.93	37,925.73	23.43	23,431.54	(14,494,19)	0.00	0.00	. (14,494.19
				Total GDXJ:	1,000.00	37 93	37,925.73	23 43	23,431.54	(14,494.19)	0 00	0.00	(14,494.19
GLD		SP	DR GOLD TR				-						
1/24/2011	02/06/2009	Self	TUSD -	2811647	300	89.77	26,929;59	130.21	39,063.89	0.00	12,134.39	0.00	12,134.39
1/24/2011	02/13/2009	Sell	USD	2811645	200	92.09	18,418.00	130 21	26,042.60	0 00	7,624 60	0.00	7,624.60
1/28/2011	02/13/2009	Sell	USD	2811645	300	92.09	27,627,00	*128.23	38,469,00	0.00	10,842,00	0.00	10,842.00
9/29/2011	07/15/2009	Sell	USD	2811646	200	92.17	18,434.10	157.53	31,506.89	0.00	13,072.79	0.00	13,072.79
				Total GLD:	1,000 00	91.41	91,408.60	135 08	135,082.38	0.00	43,673.78	0.00	43,673.78
€RA		WR	GRACE & CO	- -							· · · · · · · · · · · · · · · · · · ·	-	
3/18/2011	09/17/2010	AssignSell	USD	3500758	5,000	27.81	139,055,50	32 38	161,893,23	22,837.73	0.00	0.00	.22,837 73
	-			Total GRA:	5,000.00	27.81	139,055.50	32.38	161,893.23	22,837.73	0.00	0.00	22,837.73
IPQ		HE	WLETT-PACK										· · · · · · · · · · · · · · · · · · ·
2/24/2011	02/03/2011	Sell	USD	398 <del>1</del> 975	1,000	47.18	47,177;90	42.38	42,382.78	(4,795.12)	0.00	0.00	(4,795 12
5/04/2011	02/03/2011	Sell	USD	3931975	1,000	47.18	47,177.90	40.59	40,585.91	(6,591.99)	0.00	0.00	(6,591 99
5/16/2011	02/07/2011	:Seli	USD	3940284	500	48.21	24,107.45	39.84	19,919.61	(4,187 84)	0.00	0.00	(4,187 84
5/17/2011	02/07/2011	Sell	USD	3940284	500	48.21	24,107.45	37.27	18,634 39	(5,473.06)	0.00	0 00	(5,473.06
5/24/2011	02/07/2011	Sell	USD	3940284	1,000	48.21	48,214.90	35.95	35,949.40	(12,265.50)	- 0.00	0:00	(12,265.50
-	-			Total HPQ:	4,000.00	47.70	190,785.60	39.37	157,472.09	(33,313.51)	0.00	0.00	(33,313.51
XX		EM	ERGING GLO	BAL SHARES IN	DXX								
1/10/2011	10/29/2010	Sell	USD	3635004	2,000	-22.03	44,054.60	19.31	38,627.14	(5,427,46)	-0.00	0.00	(5,427,46
1/10/2011	11/01/2010	Sell	USD	3639627	1,000	22.28	22,275 00	19.31	19,313 57	(2,961.43)	0.00	0.00	(2,961 43
1/10/2011	11/02/2010	Sell	USD	3644113	1,000	22.28	22,276.00	19,31	19,313.58	(2,962.42)	00.0	0:00	(2,962.42
1/19/2011	11/03/2010	Sell	USD	3648259	1,000	22.35	22,348.60	18 76	18,762.63	(3,585 97)	0 00	0.00	(3,585.97

**Jefferies** 

Page 4 of 7 Base Currency: USD

Close Date	Open Date	Tran Type	Settle Ccy	Lot ID	Quantity	Unit Cost	Total Cost	Unit Proceeds	Proceeds	ST Gain/Loss	LT Gain/Loss	FX Gain/Loss	Total Gain/Loss
INXX		EM	ERGING GLO	BAL SHARES IN	DXX			2.02.02.0					
01/20/2011	11/05/2010	Sell	USD	3657476	1,000	23.06	23,064.90	18.7.5	18,753 13	(4,311,77)	0.00	0.00	(4,311. <b>77</b> )
01/21/2011	12/01/2010	Sell	USD	3728575	2,000	20 56	41,128.00	18.78	37,569 87	(3,558.13)	0.00	0.00	(3,558.13)
				Total INXX:	8,000.00	21.89	175,147.10	19 04	152,339.92	(22,807.18)	0.00	0.00	(22,807.18)
<b>IV</b> R		INV	ESCO MORT	GAGE CAPITAL									
08/08/2011	06/17/2011	Self	USD	4391194	5,000	21.07	105,357,50	17.75	88,738,29	(16,619.21)	-0:00	-0.00	(16,619.21)
				Total IVR:	5,000.00	21.07	105,357.50	17.75	88,738.29	(16,619.21)	0.00	0.00	(16,619 21)
WM		ISH	ARES RUSS	ELL 2000			<del></del> -						
11/25/2011	10/27/2011	Sell	USD	4876837	1,500	75.03	112,549.10	67 28	100,924.26	(11,624.84)	0.00	0.00	(11,624.84)
				Total IWM:	1,500.00	75.03	112,549.10	67 28	100,924.26	(11,624.84)	0.00	0.00	(11,624.84)
WM11123	0C77.00	CA	LL IWM DEC	 77.00000 12/30/2	<b>01</b> 1			<del></del>					
1/23/2011	10/27/2011	CoverShort	USD	4876825	(30)	.2.71	(8,119.16)	9.42	(1,270,68)	6,848.48	0.00	00.0	6,848,48
				M111230C77,00;	(30.00)	2.71	(8,119.16)	0 42	(1,270.68)	6,848.48	0.00	0.00	6,848.48
JPM		JPN	MORGAN CH						(,,,	,			-,,- 10110
5/04/2011	03/21/2011	Sell	USD	4086736	1,000	46.04	46,042.00	45 62	45,618.82	(423 18)	0 00	0.00	(423.18)
5/24/2011	03/21/2011	Sell	USD	4086736	1,500	46.04	69,063.00	41.75	62,628.79	(6,434.21)	0.00	0.00	(6,434 21)
6/03/2011	03/21/2011	Self.	USD	4086736	1,500	46.04	69,063.00	41.58	62,366,60	(6,696.40)	0.00	0.00	(6,696.40)
				Total JPM:	4,000.00	46.04	184,168.00	42.65	170,614.21	(13,553.79)	0.00	0.00	(13,553.79)
KFN		KKI	R FINANCIAL	HOLDINGS LLC	DELAWARE I	VEW							
8/05/2011	03/01/2011	Sell	USD	4013648	2,900	10.12	20,230 00	8.79	17,574.06	(2,655.94)	0.00	0.00	(2,655 94)
8/05/2011	08/04/2010	Sell	USD	3380313	281	8.47	2,378.83	8.79	2,469.16	0.00	90 33	0.00	90 33
8/05/2011	08/05/2010	Sell	USD	3382628	4,719	8.53	40,265.90	8.79	41,465.99	1,,200.09	0.00	0.00	1,200.09
8/05/2011	08/09/2010	Sell	USD	3389182	3,000	8.92	26,756.80	8.79	26,361.09	(395.71)	0.00	0.00	(395.71)
				Total KFN:	10,000.00	8.96	89,631.53	8.79	87,870.30	(1,851.56)	90.33	0.00	(1,761.23)
/IET		ME*	TLIFE INC										
1/04/2011	10/26/2010	Sell	USD	3622072	1,000	40 41	40,414.30	45.77	45,769 22	5,354.92	0.00	0.00	5,354,92
2/09/2011	10/26/2010	Sell	USD	3622072	1,000	40.41	40,414.30	48 01	48,013.58	7,599.28	0.00	00.0	7,599.28
2/09/2011	10/27/2010	*Sell	USD	3625470	1,000	40.43	40,430.00	48.01	48,013.57	7,583.57	-00.0	00:0	7,583.57
5/23/2011	03/02/2011	Sell	USD	4019140	1,000	43 58	43,583.30	43 61	43,609 06	25 76	0.00	0.00	25.76
6/13/2011	03/02/2011	Sell	- USD	4019140	1,000	43.58	43,583,30	40.88	40,884 <i>.</i> 71	(2,698.59)	-0.00	0.00	(2,698.59)
6/13/2011	03/03/2011	Self	USD	4024804	1,000	43.89	43,885.00	40.88	40,884.71	(3,000.29)	0.00	0.00	(3,000.29)
				Total MET:	6,000.00	42.05	252,310.20	44 53	267,174.85	14,864.65	0.00	0.00	14,864.65
//S		MO	RGAN STANI								·····		
2/22/2011	12/03/2010	Sell	USD	3737697	1,000	25.73	25,732.30	29.83	29,833.52	4,101.22	Ō 00	0.00	4,101.22
4/18/2011	12/03/2010	Sell	USD	3737697	1,000	25.73	25,732.30	26.33	26,329.69	597.39	0 00	0.00	597.39

SEE DISCLAIMER FOR ADDITIONAL INFORMATION REGARDING YOUR REPORTS

Updated: 1/1/2012 11:17:56AM

**Jefferies** 

43100659 - Hajim Family Foundation

43100659 - Hajim Family Foundation

			<del></del>				<del></del>	<del></del>	<u></u>				
Close Date	Open Date	Tran Type	Settle Ccy	Lot ID	Quantity	Unit Cost	Total Cost	Unit Proceeds	Proceeds	ST Gain/Loss	LT Gain/Loss	FX Gain/Loss	Total Gain/Loss
				Total MS:	2,000.00	25 73	51,464.60	28 08	56,163.21	4,698.61	0.00	0.00	4,698.61
MSFT		MIC	CROSOFT CO	RP									
01/13/2011	-09/23/2010	AssignSell	USD	3517072	2,300	24.56	56,479.49	26.19	60,245.78	3,766.29	00.0	0.00	3,766.29
01/21/2011	09/23/2010	AssignSell	USD	3517072	2,700	24.56	66,302.01	26.19	70,723 15	4,421.14	0.00	0.00	4,421.14
05/12/2011	02/03/2011	Sell	USD	3931980	5,000	27.71	138,560.00	25.24	126,188.57	(12,371,43)	0,00	0.00	(12,371.43
05/12/2011	02/07/2011	Sell	USD	3940292	1,000	28.18	28,180 00	25 24	25,237.71	(2,942.29)	0 00	0 00	(2,942 29
				Total MSFT:	11,000.00	26.32	289,521.50	25 67	282,395.21	(7,126.29)	0.00	0.00	(7,126.29
MZZ		UL	TRASHORT N	IIDCAP400 PROS	SHAR								
06/14/2011	06/06/2011	Sell	USD	4345359	1,000	40.78	40,782.50	41_60	41,595.90	813.40	0.00	0,00	813.40
06/21/2011	06/10/2011	Sell	USD	4361714	1,000	42.40	42,400.00	40 68	40,681.31	(1,718.69)	0.00	0.00	(1,718.69)
				Total MZZ:	2,000.00	41.59	83,182.50	41 14	82,277.21	(905.29)	0.00	0.00	(905.29)
NLY		AN	NALY CAPITA	AL MANAGEMEN	IT IN								
05/10/2011	03/23/2019	Self	USD	2959041	2,000	18.21	36,419,80	17.97	35,949.30	0.00	(470.50)	0.00	(470.50)
06/15/2011	03/23/2010	Sell	USD	2959041	3,000	18 21	54,629.70	18 34	55,011.89	0.00	382.19	0.00	382.19
06/15/2011	03/25/2010	Self	USD	2965691	2,000	17.95	35,900.00	18.34	36,674.59	0.00	774,59	0.00	774.59
06/15/2011	03/30/2010	Sell	USD	2979484	2,000	17.14	34,270.00	18.34	36,674 59	0.00	2,404 59	0 00	2,404 59
06/15/2011	12/23/2010	Self	USD	3822578	1,000	17.76	47,756.00	18.34	18,337.30	587.30	0.00	00.0	581.30
08/18/2011	06/28/2011	Selī	USD	4423380	10,000	17.95	179,549.00	17.99	179,881 54	332.54	0 00	0 00	332.54
				Total NLY:	20,000.00	17.93	358,524.50	18.13	362,529.21	913.84	3,090.87	0.00	4,004.71
SCIF		MA	RKET VECTO	RS INDIA S/C									
03/10/2011	02/17/2011	Sell	USD	3976375	2,000	16.89	33,771.00	15 97	,31,943.78	(1,827.22)	0.00	00.0	(1,827.22)
03/10/2011	03/01/2011	Sell	USD	4012887	3,000	16.26	48,786 10	15.97	47,915.68	(870.42)	0.00	0.00	(870.42)
				Total \$CIF:	5,000.00	16.51	82,557.10	15.97	79,859.46	(2,697.64)	0.00	0.00	(2,697.64)
SNOFF		SIN	O-FOREST C	ORPORATION-C	LA							,	
08/08/2011	07/28/2011	Self	USD	4533031	5,000	8.22	41,122.50	5.21	26,054.49	(15,068.01)	0.00	0.00	(15,068.01)
	_			Total SNOFF:	5,000.00	8.22	41,122.50	5 21	26,054.49	(15,068.01)	0.00	0.00	(15,068.01)
гмо		THE	ERMO FISHE	R SCIENTIFIC INC	<del></del>			<del></del>					_
10/18/2011	10/13/2011	Sell	-USD	4820904	2,000	54.07	108,139.00	51:04	102,081.23	(6,057.77)	0.00	9.00	(6,057.77)
				Total TMO:	2,000.00	54 07	108,139.00	51 04	102,081.23	(6,057 77)	0.00	0.00	(6,057.77)
ſĸv		TRA	AVELERS CO	MPANIES INC		-		<del></del>		<del></del>			<u> </u>
10/04/2011	08/31/2011	Sell	USD	4666717	2;000	50.75	101,493.00	46.39	92,772.21	(8,720.79)	0.00	00.0	(8,720.79)
-				Total TRV:	2,000.00	50 75	101,493.00	46.39	92,772 21	(8,720.79)	0.00	0.00	(8,720.79)
ΓRV12012 <sup>.</sup>	1C50.00	CAI	LL TRV JAN 5	0.00000 01/21/20	)12								,
0/04/2011	09/02/2011	CoverShort	USD	4675875	(20)	2,73	(5,469,44)	2.42	(4,830.45)	638,99	- 0.00	00.0	638:99
	-		Total TR	/120121C50.00:	(20.00)	273	(5,469.44)	2.42	(4,830,45)	638.99	9.00	0.00	638.99

SEE DISCLAIMER FOR ADDITIONAL INFORMATION REGARDING YOUR REPORTS

Updated: 1/1/2012 11:17:56AM



Page 6 of 7 Base Currency: USD

43100659 - Hajim Fāmily Foundation

	,					_		,					
Close Date	Open Date	Ттал Туре	Settle Ccy	Lot ID	Quantity	Unit Cost	Total Cost	Unit Proceeds	Proceeds	ST Gain/Loss	LT Gain/Loss	FX Gain/Loss	Total Gain/Loss
UAL		UN	ITED CONT	INENTAL HOLDIN	GS								
02/23/2011	09/30/2010	Sell	USD	3544062	2,000	23.92	47,830.00	22.87	45,748.71	(2,081,29)	0.00	0.00	(2,081,29)
02/24/2011	09/30/2010	Sell	USD	3544062	1,000	23 92	23,915 00	23.09	23,091 05	(823.95)	0 00	0.00	(823.95)
03/17/2011	10/05/2010	Self	USD	3560917	1,000	24 65	24,647.90	<del>22</del> .11	22,110.87	(2,537.03)	.0.00	0.00	(2,537.03)
07/25/2011	10/05/2010	Sell	USD	3560917	1,000	24.65	24,647.90	19 12	19,117 53	(5,530 37)	0.00	0 00	(5,530 37)
07/28/2011	12/30/2010	Sell	USD	3808679	1,000	23.62	23,615.70	17.64	17,636.16	(5,979.54)	00.0	0.00	(5,979.54)
09/02/2011	01/27/2011	Sell	USD	3902832	2,000	26.30	52,598.40	18 03	36,056 10	(16,542.30)	0.00	0.00	(16,542 30)
				Total UAL:	8,000.00	24.66	197,254.90	20.47	163,760.42	(33,494.48)	0.00	0.00	(33,494.48)
UAL11091	7C30.00	CA	LL UAL SEP	30.00000 09/17/2	.011								
04/20/2011	02/15/2011	CoverShort	USD	3967725	(20)	2.38	(4,764:61)	0.36	(724 49)	4,040,12	0.00	0.00	4,040.12
			Total U	IAL110917C30.00:	(20.00)	2.38	(4,764.61)	0.36	(724.49)	4,040.12	0.00	0.00	4,040.12
UAL11121	7C30.00	CA	LL UAL DEC	C 30.00000 12/17/2	2011								
07/18/2011	05/16/2011	CoverShort	USD	4273325	(20)	2.40	(4,801.45)	D 32	(630.45)	4,171.00	0.00	0.00	4,171.00
			Totai U	IAL111217C30.00:	(20.00)	2.40	(4,801.45)	0.32	(630.45)	4,171.00	0.00	0.00	4,171.00
VCi		VAI	LASSIS CO	MMUNICATIONS I	NC	·			<del></del>				
10/18/2011	10/14/2011	Sell .	USD	4824932	3,000	19,95	59,849.50	19.72	59,153.96	(695.54)	0,00	0.00	(695.54)
				Total VCI:	3,000.00	19.95	59,849.50	19.72	59,153.96	(695.54)	0.00	0.00	(695.54)
vwo		VAI	NGUARD EN	MERGING MARKE	T ETF								
10/18/2011	10/10/2011	- Self	USD	4809628	2,000	38.43	76,856.80	38.54	77,080.51	223.71	0.00	.0400	223.71
				Total VWO:	2,000.00	38.43	76,856.80	38.54	77,080.51	223.71	0.00	0.00	223.71
XRX		XE	ROX CORP	_									
02/23/2011	01/27/2011	Sell	USD	3901229	10,000	10.70	106,950:00	10.62	106,153.29	(796.71)	9 00	0.00	(796.71)
02/23/2011	01/31/2011	Self	USD	3912799	2,000	10 61	21,210 00	10 62	21,230 66	20 66	0.00	0.00	20 66
02/23/2011	02/07/2011	Selī	USD	3940302	3,000	11,01	33,040.00	10.62	31,845.98	(1,194.02)	0.00	0,00	(1,194.02)
10/03/2011	08/31/2011	Sell	USD	4666726	2,000	8 34	16,673 73	6.84	13,689.73	(2,984.00)	0 00	0 00	(2,984.00)
				Total XRX:	17,000 00	10.46	177,873.73	10.17	172,919.66	(4,954.07)	0.00	0.00	(4,954.07)
			Total	Trading Activity:			4,623,674.61		4,341,254.47	(329,275.12)	46,854.98	0.00	(282,420.14)
				Total 43100659:			4,623,674.61		4,341,254.47	(329,275 12)	46.854.98	0.00	(282,420.14)
							.,,,-1						1-0-1-1-1

SHORT TERM CAPITAL GAIN/(LOSS)

4,039,392.56

4,368,667.68

(329,275.12)

LONG TERM CAPITAL GAIN/ (LOSS)

301,861.91

255,006.93

46,854.98

**TOTAL** 

4,341,254.47

4,623,674.61

(282,420.14)

SEE DISCLAIMER FOR ADDITIONAL INFORMATION REGARDING YOUR REPORTS

Updated: 1/1/2012 11:17 56AM **Jefferies** 

#### THE HAJIM FAMILY FOUNDATION

#### EIN #13-6893956

01/01/11-12/31/11

# Form 990-PF, Pt XV - Grants & Contributions Charitable Contributions

PAYEE	ADDRES	AMOUNT	
ALZHEIMER'S DRUG DISCOVERY FOUNDATION	57 WEST 57TH STREET, STE #904	NEW YORK, NY 10019	1,000
ARTISTS ASSOCIATION OF NANTUCKET	PO BOX 1104	NUNTACKET, MA 02554	250
AUTISM SPEAKS	1 EAST 33RD STREET	NEW YORK, NY 10016	1,500
BAPTIST HEALTH SOUTH FLORIDA FOUNDATION	8900 NORTH KENDALL DRIVE	MIAMI, FL 33176	7,000
BARROW STREET NURSERY SCHOOL	27 BARROW STREET	NEW YORK, NY 10014	2,500
CENTRAL PARK CONSERVANCY	14 EAST 60TH STREET	NEW YORK, NY 10022	250
CITY HARVEST INC	575 EIGHT AVENUE, 4TH FL	NEW YORK, NY 10018	500
CURE ALZHEIMER'S FUND	34 WASHINGTON STREET, STE 200	WELLESLEY HILLS, MA 02481	1,000
EGAN MARITIME INSTITUTE	4 WINTER STREET	NANTUCKET, MA 02554	250
FACES	223 E 34TH STREET	NEW YORK, NY 10016	500
FRIENDS OF NANTUCKET HISTORICAL ASSOCIATION	PO BOX 1016	NANTUCKET, MA 02554	2,875
GRAND COUNTY LIBRARY FOUNDATION	225 E JASPER AVENUE	GRANBY, CO 80446	4,000
GREENWICH ACADEMY	200 NORTH MAPLE AVE	GREENWICH, CT 06830	200
GREENWICH COUNTRY DAY SCHOOL	P O BOX 623 OLD CHURCH RD	GREENWICH, CT 06836	100
GREENWICH HOUSE	46 BARROW STREET	NEW YORK, NY 10014	1,000
JUMPSTART	505 EIGHTH AVENUE, STE 1100	NEW YORK, NY 10018	1,000
MARIA MITCHELL	4 VESTAL STREET	NANTUCKET, MA 02554	250
MICHAEL J FOX FOUNDATION	P O BOX 4777	NEW YORK, NY 10163	4,300
MIDDLESEX SCHOOL	1400 LOWELL ROAD	CONCORD, MA 01742	15,000
NANTUCKET ATHENEUM	P O BOX 808	NANTUCKET, MA 02554	7,400
NANTUCKET BOYS & GIRLS CLUB	P O BOX 269	NANTUCKET, MA 02554	1,000
NANTUCKET GOLF CLUB FOUNDATION INC	250 MILESTONE ROAD	SIASCONSET, MA 02564	53,500
NANTUCKET CONSERVATION FOUNDATION	118 CLIFF ROAD	NANTUCKET, MA 02554	15,000
NANTUCKET COTTAGE HOSPITAL	57 PROSPECT STREET	NANTUCKET, MA 02554	1,000
NANTUCKET HISTORICAL ASSOCIATION	15 BROAD STREET	NANTUCKET, MA 02554	7,700
NANTUCKET LAND COUNCIL	P O BOX 502	NANTUCKET, MA 02554	1,000
NANTUCKET LIGHTHOUSE SCHOOL	1 RUGGED ROAD	NANTUCKET, MA 02554	200
NAVY SEAL FOUNDATION	1619 D STREET, BLDG 5326	VIRGINIA BEACH, VA 23459	500
NORWALK COMMUNITY COLLEGE FOUNDAITON	188 RICHARD AVENUE, ROOM E311	NORWALK, CT 06854	300
NY HISTORICAL SOCIETY	170 CENTRAL PARK WEST	NEW YORK, NY 10024	850
NY-PRESBYERIAN HOSPITAL	654 WEST 170TH STREET	NEW YORK, NY 10032	20,000
OCEAN REEF COMMUNITY FOUNDATION	200 ANCHOR DRIVE	KEY LARGO, FL 33037	14,750
OCEAN REEF CULTURAL CENTER	200 ANCHOR DRIVE	KEY LARGO, FL 33037	31,500
OCEAN REEF COMMUNITY FOUNDATION	200 ANCHOR DRIVE	KEY LARGO, FL 33037	14,650
OCEAN REEF MEDICAL CENTER FOUNDATION	50 BARRACUDA LN	KEY LARGO, FL 33037	10,000
GRAYVIK ANIMAL CASE CENTER	97 SOUTH HARBOR DRIVE	KEY LARGO, FL 33037	465
SUSTAINABLE NANTUCKET	P O BOX 1244	NUNTACKET, MA 02554	100
THE KEYS CHILDREN' S FOUNDATION	24 DOCKSIDE LANE	KEY LARGO, FL 33037	1,500
THE METROPOLITAN MUSEUM OF ART	1000 FIFTH AVENUE	NEW YORK, NY 10028	866
THE MUSEUM OF MODERN ART	11 WEST 53RD STREET	NEW YORK, NY 10019	789
THE TRUSTEES OF RESERVATIONS	572 ESSEX STREET	BEVERLY MA 01915	500
UC SAN DIEGO FOUNDATION	9500 GILMAN DRIVE #0940	LA JOLLA, CA 92093	3,000
UNIVERSITY OF ROCHESTER	P O BOX 270251	ROCHESTER, NY 14627	50,000
VAIL VALLEY INSTITUTE	PO DRAWER 13	VAIL, CO 81658	500
WATERSIDE SCHOOL	770 PACIFIC STREET	STAMFORD, CT 06902	1,000
TOTAL CHARITABLE CO	ONTRIBUTIONS, GIFTS, GRANTS PAID		281,545 00